ZRD

N3

O
O

ordering code 7] & R #&/E SRR E A

PL(F) | 90 L2 - 32
MODEL SIZE STAGE Ratioi IBiiEEL i :
AR | M| BRUBH L
40. 60 | |L1: BB 3.4.5.6.8.10
Lo:
. 4] .
80, 120 | |L2: 2R/ 9.12.15.16.18.
140. 160/ |Ls: 3B/A 20.24.25.30.32 .
200 Le: 48R 36.40.48.64
L3:

60, 64, 72, 75. 80,
90, 100, 120, 144,
150, 160, 180. 200.
240, 256, 288, 320,
384, 512, 600, 800

ordering code 7] & X%/ B SRR i E 5% BA

WPL(F) | 90 Ls |- 64
MODEL SIZE STAGE Ratioi JBIELL i :
RIS | W RB/AH L.
40, 60 | L1 T/ 3.4.5.6.8.10
Lo:
80, 120 | Le: 2R/A 9.12.15.16.18.
140, 160 L3: 3&/#& 20~24~25.30\32\
200 Lo 4E3G 3L6\40‘48\64
3:

60, 64, 72, 75, 80,
90, 100, 120, 144,
150, 160, 180, 200,
240, 256, 288, 320,
384, 512, 600, 800

ZRD

N4

Notes of product ordering

W E R A RT B A A

ZRD

PL/PF series

Precision Planetary Gear Boxes

Rotio/iBiiE Lk i=3:1~10,000:1
Backlash/[E] 72 [ & < 3 arcmin
Output torque/#E4a ~1,800N.m

Frame size/#4Z1%E

P2

Backlash
iR
Po: #BIEZ
P1: 1%
P2: 1ZH

PL40/PF40~PL200/PF215

- S2 - MOTOR
Output Input
B SR gERIR B MARR S
S1: shaft 3t
S2: shaft with key ES##EH EEAE B
S3: splined shaft 7L S, AR
K1: Hollow shaft ¥l St 2 Tl L
(INERREE ) AT
K2: Hollow with key EE#7L R~

K3: SWpline hollow fE&7L

T: Special require FAF4HRER

OP 3: Case mounting
VeRtde e b

OP 4: Foot mounting J& EEZE AL

Standard connection if no mark

g BRI SR BRI AN EE

WPL/WPF series

Frame size/#4ZI8E

P2

Backlash
R
Po: #B15%
P1: %
P2; 1ZHE

16

Precision Planetary Gear Boxes

Rotio/iBi& L i=3:1~10,000:1
Backlash/[E] 2 & & < 5 arcmin
Output torque/E4E ~1,800N.m

WPL/PF40~WPL200/PF215

- S2 - MOTOR
Output Input
B AR B ARRSE
S1: shaft 3t
S2: shaft with key B2 sz EEAERAER
S3: splined shaft 7L} S, ERRIE
K1: Hollow shaft ¥l B 2k Tl L
(NERREE ) ekt
K2: Hollow with key EE27L R~

K3: SWopline hollow 7E8FL

T: Special require A F4EHERK

OP 3: Case mounting
VeRtd & i

OP 4: Foot mounting &K B2 EL

Standard connection if no mark

g RSB B R B LT

ZRD



PL(F)/WPL(F) series precision planetary gear boxes torque
Z R D PL(F)/WPL(F) &5 #5 % 17 2 i E ¢ 1 56 Z R D

Type Stage PL40 PL50 PL60 PL70 PL 8 PL 90 PL 120 PL 140 PL 160 PL 200
mgg ey PF 40 PF 50 PF 60 PF70 PF 8 PF 90 PF 115 PF 130 PF 142 PF 215
WPL40 WPL50 WPL60 WPL70 WPL80 WPL90 WPL120 WPL140 WPL160 WPL200

Data t£AES 8 WPF40 WPF50 WPF60 WPF70 WPF80 WPF90 WPF115 WPF130 WPF142 WPF215
3:1 8 10 18 22 40 50 125 210 400 1,050
4:1 18 20 40 45 110 125 260 450 800 1,780
L1 5:1 16 18 36 41 90 110 230 400 700 1,600
6:1 22 26 55 65 125 260 550 1,000
8:1 5 6 15 18 50 55 120 210 450 950
10:1 12 15 22 32 70 130 210 305
9:1 8 10 18 22 40 50 125 210 400 1,050
12:1 18 20 40 45 110 125 260 450 800 1,780
15:1 16 18 36 41 90 110 230 400 700 1,600
16:1 18 20 40 45 110 125 260 450 800 1,780
o 20:1 18 20 40 45 110 125 260 450 800 1,000
;’; L» 25:1 16 18 36 41 90 110 230 400 700 1,780
ﬁ_ 30:1 36 41 90 110 230 260 700 1,600
Eg: 32:1 18 20 40 45 110 125 260 450 800 1,600
z 36:1 22 22 55 65 125 260 550 1,780
: 40:1 16 20 36 41 90 110 230 400 700 1,600
g- Nm 48:1 22 22 55 65 125 260 650 1,000
t 50:1 20 25 50 67 120 230 450 700
é‘ 64:1 6 6 15 18 50 60 120 210 450 1,000
% 48:1 18 20 40 45 110 125 260 450 800 1,780
E 60:1 18 20 40 45 110 125 260 450 800 1,780
<ZD 64:1 18 20 40 45 110 125 260 450 800 1,780
75:1 16 18 36 41 90 110 230 400 700 1,600
80:1 18 20 40 45 110 125 260 450 800 1,780
90:1 16 18 36 41 90 110 230 400 700 1,600
100:1 18 20 40 45 110 125 260 450 800 1,780
120:1 18 20 36 41 110 125 260 450 800 1,780
125:1 16 18 36 41 90 110 230 400 700 1,600
Ls 150:1 16 18 36 41 90 110 230 400 700 1,600
160:1 18 20 40 45 110 125 120 450 800 1,780
180:1 16 18 36 41 90 110 110 400 700 1,600
200:1 16 18 36 41 90 110 230 400 700 1,600
240:1 36 41 90 110 230 400 700 1,600
256:1 18 20 40 45 110 125 260 450 800 1,780
320:1 16 18 36 41 90 110 230 400 700 1,600
384:1 22 22 55 65 125 260 550 1,000
512:1 6 6 15 18 50 50 120 210 450 1,000

ZRD " ZRD



ZRD

PL(F)/WPL(F) precision planetary gear boxes technical data

PL(F)/WPL(F) Z5IFEBTERREMEGELY

Type Stage/®5% Ergy PL 40 PL 50

Data a2 8
Max. output torque N.m
RAfE A :
Emergecy stop N.m
R IEA ’
Frmax.for 10.000h N

EXEEAHD
Famax.for 10.000h
Rk#hE 0
Torsional riRgidity _Nm
Ekeikili arcmin
Max.input speed
BARBNIEE rem
Average input speed rom
. _aaiﬁﬁAgF;g P
oise
ms  wer  9BAY)
Average lifetime h
SBE)
Effeiency withfull load n
i g
£
PO 5
<
PL E
pr P1 o
& 5
) c
O =
o P2 §
< ]
3 <
f: PO §
m S
WPL
£
IS
WPF P <)
©
£
P2 §
<
[
L]
i
Fo
& o
8 §
s 2
S
<
[
£
o
=
a
] PL(F)
e
= kg
=y
@
= WPL(F)

(1)Means:Allowing radial force and axial force that function in output central place when output speed is 100 rpm.

L1
L2
L3
L1
L2
L3
L1
L2
L3
L1
L2
L3
L1
L2
L3
L1
L2

L3

L1
L2
Ls
L1
L2
La

3:1
4:1
5:1
6:1
8:1
10:1
15:1
20:1
25:1
32:1
40:1
64:1
60:1
80:1
100:1
160:1
200:1
256:1
320:1
512:1

PF 40 PF 50
WPL40 WPL50
WPF40 WPF50

165 185
135 150
0.65 0.7
10,000 10,000
4,500 4,500
<56 <56
<60 <60
<14 <14
<16 <16
<18 <18
<20 <20
<24 <24
<28 <28
<16 <16
<18 <18
<20 <20
<22 <22
<26 <26
<30 <30
0.031 0.031
0.022 0.022
0.019 0.019
0.018 0.018
0.017 0.017
0.016 0.016
0.015 0.015
0.007 0.007
0.007 0.007
0.007 0.007
0.005 0.005
0.005 0.005
0.015 0.015
0.007 0.007
0.007 0.007
0.013 0.013
0.005 0.005
0.005 0.005
0.005 0.005
0.005 0.005
0.37 0.37
0.45 0.45
0.55 0.55
0.51 0.51
0.61 0.61
0.71 0.71

ZRD

PL 60 PL70 PL 8 PL 90 PL 120 PL 140 PL 160 PL 200
PF 60 PF 70 PF 8 PF 90 PF 115 PF 130 PF 142 PF 215
WPL60 WPL70 WPL80 WPL90 WPL120 WPL140 WPL160 WPL200
WPF60 WPF70 WPF80 WPF90 WPF115 WPF130 WPF142 WPF215

240

220

1.8
8,000

4,000

<58
<61

15 =96%

<5
<7
<9
<14
<16
<18

<7
<9
<11
<16
<18
<20
0.135
0.093
0.078
0.075
0.065
0.063
0.039
0.049
0.039
0.038
0.027
0.027
0.039
0.039
0.016
0.016
0.016
0.016
0.016
0.016
0.93
1.15
1.35
1.7
1.9
2.1

1.5times TaN 1.5 3EEHE
2 times T2N 2fEFREE
265 400 450 1,240
230 420 430 1,000
1.95 4.7 4.85 11
8,000 6,000 6,000 6,000
4,000 3,500 3,500 3,500
<58 <60 <60 <65
<61 <63 <63 <68
20,000
2B =94%
<3 <3 <3
<5 <5 <5
<7 <7 <7
<5 <5 <5 <5
<7 <7 <7 <7
<9 <9 <9 <9
<14 <8 <8 <8
<16 <10 <10 <10
<18 <12 <12 <12
<5 <5 <5
<7 <7 <7
<9 <9 <9
<7 <7 <7 <7
<9 <9 <9 <9
<11 <11 <11 <11
<16 <10 <10 <10
<18 <12 <12 <12
<20 <14 <14 <14
0.135 0.77 0.77 2.63
0.093 0.52 0.52 1.79
0.078 0.45 0.45 1.53
0.075 0.42 0.42 1.40
0.065 0.39 0.39 1.30
0.063 0.39 0.39 1.28
0.039 0.72 0.72 2.40
0.049 0.35 0.35 1.60
0.039 0.25 0.25 1.40
0.038 0.18 0.18 1.40
0.027 0.18 0.18 1.30
0.027 0.16 0.16 1.30
0.039 0.28 0.28 1.57
0.039 0.25 0.25 1.38
0.016 0.25 0.25 1.35
0.016 0.18 0.18 1.35
0.016 0.18 0.18 1.30
0.016 0.16 0.16 1.30
0.016 0.16 0.16 1.25
0.016 0.16 0.16 1.20
0.93 2.35 2.35 6.15
1.15 2.70 2.70 8.00
1.35 3.20 3.20 10.00
1.7 4.4 4.4 12
1.9 5.0 5.0 14
2.1 5.5 5.5 16

(2)The weight of reducer in this book is approximation,the practical is depend on the finished product.
(3)The moment of inertia relates to the ratio. frame. input shaft and to standard motor shaft . etc.

ZRD

18

2,250 3,700 4,800
1,500 3,500 4,500
22 35 55
4,500 4,500 4,000
3,000 3,000 2,500
<68 <70 <70
<70 <75 <78

3B =>90%
<3 <3 <3
<5 <5 <5
<7 <7 <7
<5 <5 <5
<7 <7 <7
<9 <9 <9
<8 <8 <8
<10 <10 <10
<12 <12 <12
<5 <5 <5
<7 <7 <7
<9 <9 <9
<7 <7 <7
<9 <9 <9
<11 <11 <11
<10 <10 <10
<12 <12 <12
<14 <14 <14
5.83 12.14 251.6
3.21 7.78 243.0
3.10 6.07 232.4
2.85 5.24 205.8
2.10 4.63 56.80
1.95 4.60
3.35 7.47 55.30
2.73 6.95 52.10
2.25 6.65 52.10
2.25 5.81 50.09
2.25 5.81 50.09
2.25 5.28 40.75
2.87 6.85
2.25 6.10
2.15 5.70 38.60
2.10 5.55 36.50
2.10 5.32 32.85
2.10 5.21 32.85
2.10 5.15 30.71
2.10 5.15 28.85
11.30 19.00 31
13.50 24.00 42
15.80 29.00 50
17 26.5 50
19 29.6 61
21 32.6 70

(1)F 7R 728 ¥ 1 00rpm B 16 A T tH 0 B 2 BRFAR R hfndim 7

(yREHERYERRERMEEMESUTEREL, REERURNAE,

Q)M EFRIVAELL . BERAIEE. ABTEEHREHE, ERHEH
HEFEL,

ZRD



ZRD

output G H

D2

PL40-PL200-0OP2 motor mounting dimensions

PL40-PL200-OP2 E#EHZER N IMERERT

input SHRIREWA
PL40-2004%
L61 L7 L1 D21 |
L2 C1 -
5 - — 8 E[B
[m) ,_} a
[e2)
o
L51 [ Lsh
31 L4

Other shaft i P ]S 4E bt AE R
shaft &k

8:

f=

hollow %M FLisremEsE)

8:

% S1
-
2 i
5
[=]
E, k1
K.
im
5
o

Type Stage

]ﬂ

Size/RF

B1

C1

H1

D1 @

D2 4x
1+ D3 h7
1%
S D4 ®
e
€ D5 W
%‘ D7 o}

L1

L2

L3

L4

L5

L7 @

A2

B2
. H

&

Y b1 oE
% Ei-
2 D2t S
& o
& D3 GE
5 K
2 D51 <

L31

L51

L61

=

PL40 PL50
1(2(3(1|2|38
3 4
M4X10 M4X10
11.2 13.5
34 44
M4X6 M4X9
10 12
12 15
26 35
40 50
16 14
25 25
23 18
26 24.5
2 4
385 53 675 335 49.5 655
motor | iRIEFEM
motor  RIEEM
motor  RIEFEM
motor  IR¥EFHL
motor  IR¥EFHL
motor  IR¥EFEHL
motor  RIEFEM
motor  RIEFEH
motor | iRIEFEEML
motor  RIEAH

S2  shaft with key B

C

')

k2  hollow with key BE{#R 7L

PL60

1 2 3
5

M5X12
16
52
M5X8
14
17
40
60
25
2.5
30
35
3
48 69 86
motor
motor
motor

motor
motor

motor
motor
motor
motor

motor

PL70

1.2 3
5

M5X12

18

62

M5X10

16

20

52

70

25

3

28

35

5
475 675 815
RAEE
RAEE
RiEE

RYEEH
REEE

REEEH
RiER
RiER
RAERH
RAERH

(1)dimensions refer to the mounted motor-type ,the size can be changed
(2)dimensions refer to the frame of the boxes,the size can be changed

ZRD

Sz splined shaft &4k

e

D21

St

ZRD

input SEERIEA
EREXR

special shaft $57%#

According to customers

RAPERHE

ks 'splined hollow fE8#M L  kt

special hollow 457l

_I_I According to customers
=TF RPEXRHE
PL80 PL90 PL120 PL140 PL160 PL200
1/2/3|(1(2|3|1|/2/3(1/2|3|1|2|3(1|2|3
6 6 8 10 12 14
M6x16 M8X19 M10X22 M12X25 M12X25 M20x42
22.5 245 28 35 43 53.5
70 80 100 120 145 184
M6x10 M6x12 M10X16 M10X16  M12X20 M12X22
20 22 25 32 40 50
25 25 35 40 60 110
60 68 80 100 130 160
80 90 115 140 162 205
25 25 40 55 65 70
5 5 5 6 7.5 7.5
36 36 50 70 80 82
40 46 55 75 87 90
3 5 4 4 5 6
65 865 1105 55 77 101 74 104 1345 85 1235 162 95 134.5173.5 137 1765 216
motor  WRIFEHL  motor | IRIEEEH  motor | IRIFEAEM
motor  HRIFEH.  motor  IRIBEHL  motor  IRIBEEM
motor  RIEEH  motor  IRIBEHL  motor  IRIFEH
motor  R#EEAHL  motor  IRIEEEHL  motor | IRIEEML
motor  R#EEHL  motor  IRIEEAHL  motor | IRIFEEM
motor | IR#FEEHL  motor  IRIEEEHL  motor | IRIFEEM
motor  RIEEH.  motor  IRIBEHL  motor  IRIFEH
motor  RIFEH.  motor  IRIBEHL  motor  IRIFEH
motor | WRIFEHL  motor  IRIEEH  motor | IRIFEAEM
motor  R#EEAHL  motor  IRIEEHL  motor | IRFEEML
()ELLHAMEMREHMNEFER ELRTATIFEK
(2)ELLH BB EENILEFN EERTRUEEL
” /ZRD



ZRD

PF40-PF215-0P2 motor mounting dimensions
PF40-PF215-0P2 BH#{MERINSME R EKRT

ZRD

output i input SHEIREWA input $EIERIEA
PF40-1604& % BEREXR
L3
L61 L7 L1 D21
Tl o o
2 S on| |l _elaas L
g
D1 Ls1. 131 E, L4
Other shaft F P RIE 2 i R
E S shaft J## S2 shaft with key & S3 splined shaft 7§ St | special shaft $§%%éH
é i N % N % B Accorcﬁgr;?éc;kc;]s{;omers
3 ( < <
_E ki hollow %R FLisramss) k2 hollow with key E##M. ks splined hollow &8 K7L  kt  special hollow %7l
i i
s B @ B —I-I According to customers
g =T = APEKRGUE
o
Tvpggg%aﬁ%i;g PF40 PF50 PF60 PF70 PF80 PF90 PF115 PF130 PF142 PF215
Size/Rt 112(3|1(2|3|1|2|3|1(2|3|1[2[3(1(2(3/1[2|3|1|2|3|1(2|3|1[2|3
A1 45 55 60 75 90 95 120 145 175 215
B1 3 4 5 5 6 6 8 10 12 14
C1 M4X10 M4X10 M5X12 M5X12 M6x16 M8X19 M10X22 M12X25 M12X25 M12x42
H1 11.2 13.5 16 18 22.5 245 28 35 43 53.5
D1 O] 50 60 70 85 100 110 130 160 185 235
E D2 4X ®3.5 ®4.5 ®5.5 ®55 6.5 6.5 8.5 11 o111 ®13.5
3% D3 ®h6 10 12 14 16 20 22 25 32 40 50
% D4 o 12 15 17 20 25 25 35 40 60 65
E._ D5 ®h7 26 45 50 50 80 85 110 120 130 180
3 D7 0] 40 50 60 70 80 90 115 140 162 205
L1 16 14 25 25 25 25 40 55 65 70
L2 25 25 25 3 5 5 5 6 7.5 7.5
L3 23 18 30 28 36 36 50 70 80 82
L4 26 24.5 35 35 40 46 55 75 87 90
L5 2 4 3 5 3 5 4 5 5 6
L7 ® 385 53 675 335 495 655 48 67 86 475 675 875 65 865 1105 55 77 101 74 104 1345 85 1235 162 95 13451735 137 1765 216
A2 motor  #RiEMHL  motor | RIEEHL  motor | IRIEEHL  motor | FRIEEHL  motor | IRIBEHL
B2 motor  #R¥FEYL  motor | IRIEEEHL  motor  IRIFEHL  motor  IRIFEHL  motor | IRIFEEHL
ilf‘ H2 5 g motor R¥EEHL  motor | IRIEEHL  motor | IRFEEHL  motor | IRIEEHL  motor | IRIBEEEML
;}lé D11 2 1*__‘5_‘ motor | R#EEHL  motor  RHEEEHL  motor | IRFEEANL  motor  IRIEEHL  motor  IRIFEEM
jz D21 g’ ué motor RIFEHL  motor HRIBEML  motor HRIBE motor WIEBEYL  motor RIBEM
g D31 _g E motor RIZEHL  motor RIZEHL.  motor R motor RIZEHL  motor TRIBEML
"g_ D51 § ® motor RIFEH  motor HRIEEM  motor RIBE motor RIFEH  motor RIBEM
= L3t <E motor  #R#EEHL  motor | IRIEEEHL  motor  IRIFEHL  motor  IRIFEHL  motor | IRIFEHL
L51 motor RIFEHL  motor RIZEH.  motor RIEEH motor RIFEHL  motor TRIBEML
L61 motor  RIEEML  motor  RIEEHL  motor | IRIEEHL  motor | IRIEEHL  motor | IRIEEHL
(1)dimensions refer to the mounted motor-type ,the size can be changed (1)ELE2H#MEMAEEHMNESEE EERTATUEEL
(2)dimensions refer to the frame of the boxes,the size can be changed (2)IEL LR EH N EBEEH, B RTRINEG &L
/ZRD & /ZRD



ZRD

WPL40-WPL200-0P2 motor mounting dimensions
WPL40-WPL200-0P2 E#EER XML RER T

ZRD

output input SHEIREAN input SEERIEG N
WPL40-2004&# EREXR
D51
VS D31
5 P L3
e = by L1
T | g B8l Tl o
,A\G} 4{ O
N
- \ 1a
SRS N U R R I o
‘ ! L5
LA UL L8 L7 L4
Other shaft FJ P A] 4% A6 L EERY
E S1 shaft 38k S2 shaft with key E i S3 splined shaft & §##H St | special shaft $§5%8#f
o &
§_ - N e According to customers
5 N RAPEXRHE
o
E ki hollow XA F.sremsz k2 hollow with key BRI ks  splined hollow M. ki  special hollow 4§77
2® I
5 ml B = According to customers
g = RPEREIE
(=]
Tvp;z;a;; WPL40 WPL50 WPL60 WPL70 WPL80 WPL90 WPL120 WPL140 WPL160 WPL200
Size/R 3t 1/2|13|1(2|3|1/2[3|1|/2[3|[1/2[3|1(2|3|1]|2|3|1|23|1|2(3[1|2]|3
B1 3 4 5 5 6 6 8 10 12 14
C1 M4X10 M4X10 M5X12 M5X12 M6x16 M8X19 M10x22 M12x25 M12x25 M20x42
H1 11.2 13.5 16 18 22.5 24.5 28 35 43 53.5
D1 [0} 34 44 52 62 70 80 100 120 145 184
E D2 4x M4X6 M4X9 M5X8 M5X10 M6x10 M6x12 M10x16 M10X16 M12X20 M12X22
2"'5% D3 h7 10 12 14 16 20 22 25 32 40 50
& D4 12 15 17 20 25 25 35 45 55 110
=
a D5 h7 26 35 40 52 60 68 80 100 130 160
3 D7 40 50 60 70 80 90 115 140 162 205
L1 16 14 25 25 25 25 40 55 65 70
L2 25 25 2.5 3 5 5 5 6 8 7.5
L3 23 18 30 28 36 36 50 70 80 82
L4 26 24.5 35 35 40 46 55 75 85 90
L5 2 4 3 5 3 5 4 5 5 6
L7® 385 53 675335 495655 48 67 86 475675875 65 8651105 55 77 101 74 104 1345 85 1235 162 95 13451735 137 1765 216
L8 49 49 75 75 103.6 103.6 125.5 140 151.2 205
A2 motor RIFAH,  motor RIEEH motor IRYEEM motor TRE M motor IRHEERHL
B2 motor RIFEH  motor RIBREH motor R motor RIBREHL motor RIBREH
af H2 - motor RIEEH  motor RIERE motor RIEE motor RIBEM motor RIBREH
gé D11 ‘é ¥  motor IRIBEHL motor TRIFERHL motor RIFEM motor RIBEBHL motor RIFEBH
"2 D21 2 E motor RIFEH  motor RIBREHL motor R motor TRHFEEHL motor IRHBEEHL
= o=
§ D31 é @ motor IREE motor IRIBEEAL motor R motor IRIBEEHL motor IRHEEEHL
3 D51 8 ?‘é motor  iRIEEEHL  motor  IRIFAHL motor  RIEEHL motor  iR#EFEH  motor  IRFEEEH
= L31 motor IRHEEM motor RERH motor R motor IRIFEEL motor IRHEEEHL
L51 motor RIFEH  motor RIBREHL motor R motor RIBREHL motor RIBREH
L61 motor IRHEE motor REERHL motor R motor IRIBEEAL motor IRHEEEAL
(1)dimensions refer to the mounted motor-type ,the size can be changed (1)ELE2H#MEMAEEHMNESEE EERTATUEEL
(2)dimensions refer to the frame of the boxes,the size can be changed (2)IEL LR EH N EBEEH, B RTRINEG &L



ZRD

output G H

WPF40-WPF215-0P2 motor mounting dimensions
WPF40-WPF215-0P2 BB #ER XM RER T

ZRD

input SHEIREWA input SEIERIEN
EPRER

_ D51 PF40-1601Z
5 |98 - g
3 MR e e Dat,
L2 Ci1
N Al
R R ==Y |
s -
L7 L4 D11
Other shaft FJ P 7] 42 Ay L AERY
E - S shaft Jt#h S2 | shaft with key B ##8) S3 splined shaft &4 St | special shaft $5%k#h
é_ " ) B }g ) B }@ ( N Accor:r}rg;;ﬁc%j:ﬁomers
[=]
E, ki hollow %M Fuiemezz) k2 hollow with key E#MI. ks  splined hollow f£88M7L ke special hollow 4% 7L
o
g f N b B 7 B —I:-I According to customers
§' = ( =5 < APERIE
o
TVPE;;;%;H WPF40 WPF50 WPF60 WPF70 WPF80 WPF90 WPF115 WPF130 WPF142 WPF215
Size/ R+t 1/2(3(1/2[3(1]2|3|1|/2[3|1|2|3[1|2|3(1|2|3(1(2(3[1[2[3|1[2]|3
Al 45 55 60 75 90 95 120 145 175 215
B1 3 4 5 5 6 6 8 10 12 14
C1 M4X10 M4X10 M5X12 M5X12 M6x16 M8X19  M10X22 M12x25 = M12X25 M20x42
H1 11.2 13.5 16 18 22,5 245 28 35 43 53.5
DI O 50 60 70 85 100 110 130 160 185 235
E D2 4X® ®3.5 4.5 ®5.5 ®5.5 6.5 6.5 8.5 11 11 13.5
£ D3 one 10 12 14 16 20 22 25 32 40 50
H
& D4 © 12 15 17 20 25 25 35 45 60 65
’\—g D5 ®h7 26 45 50 50 80 85 110 120 130 180
§ D7 40 50 60 70 80 90 115 140 162 205
L1 16 14 25 25 25 25 40 55 65 70
L2 25 25 25 3 5 5 5 6 8 7.5
L3 23 18 30 28 36 36 50 70 80 82
L4 26 24.5 35 35 40 46 55 75 85 90
L5 2 4 3 5 3 5 4 5 5 6
L7® 385 53 675335495 655 48 67 86 475675875 65 8651105 55 77 101 74 104 1345 85 1235 162 95 13451735 137 1765 216
A2 motor RIEEM motor REE motor RIFE motor REREM motor REAEM
B2 motor TRIFEML motor TRIFEM motor RIFEM motor TRIFEML motor TRIFEML
517 H2 s5& motor RIFEEAL motor RIFEEAL motor IRYEEEHL motor RIFEE AL motor HRIFEE AL
gé D11 € *T-,f motor  1RIFFEML motor  RIEFEHL  motor  RIEEML  motor  RIFEREM motor  ARIEFAHL
2 D21 ﬁﬂé motor  #RIEEEHL  motor | IRIEEHL  motor  IRIFEEHL  motor | IRIFEH motor  HRIEEEHL
E‘@ D31 § g motor REEE motor REEEBR motor IRYEE motor RIEE motor TRIBEML
g D51 <%  motor RIFEEAL motor RIFEEAL motor IRYE AL motor RIFEE AL motor RIFEE L
= L31 motor RIZEEAL motor RIZEEAL motor IRHE AL motor RIZEE AL motor RIFEE AL
L51 motor TRIFEML motor TRIFEM motor RIFE motor TRIFEML motor TRIFEML
L61 motor RIEERA motor R motor IRYE L motor TRIBERA motor TRIBER
(1)dimensions refer to the mounted motor-type ,the size can be changed (1)ELE2H#MEMAEEHMNESEE EERTATUEEL
(2)dimensions refer to the frame of the boxes,the size can be changed (2)IEL LR EH N EBEEH, B RTRINEG &L
ZRD = ZRD





